B6 Calculator

Make this screen.
Duplicate
| highly recommend - for the buttons.

The textbox is named “screen”.

The buttons are named as follows:

bclear bBackSpace | bExp bfact

b7 b8 b9 bdivide
b4 b5 b6 bmultiply
bl b2 b3 bminus
b0 bdec bequals | bplus

Start with these two global variables:

Code the number buttons 0 to 9 first. b1 is here:

anE?ent{' Hbl"' '“c;iCk“J [

setText (¥ acreen , getText (¥ "screen”) J-l-" ) I:l =

Run your program:

Numbers should appear in the textbox as you click them.

None of the other buttons will work.
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The Decimal button works exactly the same way.
= _J
onEvent ( ¥ "bdec” |

¥ "click™,

Make a function to calculate the new total based on the sign the user has created.
[2:qn!

total total stNumber (¥ "acrasan™)
g

=igne=n-"

| getNumber (v "=screen”)

(s1gnig
| getNumbex (¥ "scre=n")
|=ign=="/"

| getNumber (¥ "scre=n")

Make a function to handle the first number (it’s strange):
[totall

geciumber ( ¥ "scresn")

setText (¥ "screen™, "");

For each_?f the buttons for *, +, -, /, make their onEvent:

onEvent (¥ "bplua",

¥ "click™,

The sig;l,_rat the bottom, needs to be changed to be -, +, * or / depending on the button.



Code the equals button:

onEvent (¥ "begual=", ¥ "click",

aetText (v "screen”™, total): ]

Run your code. You should be able to add, subtract, multiply, divide and press the equals button.
The answers should be correct.

Code the clear button:

A

cnEvent (¥ "kbelear", w"click",

I'.'J

Code the backspace button:

¥ "click"™,

getText (¥ "acresn")

newhium current ® | current

onEvent ( ¥ "bBackSpace™,

setText (¥ "zcreen”, newlum);

Run your code.

Everything (except these two buttons: ) should be working.

To code the power button, you need a loop.

First, do the easy part and set up the button:

¥ "click",

onEvent (v "bExp",

sion =




Second, go to the calculate method and add the loop that repeatedly calculates the exponent.
-+

signm="+
iore=r/n

[ getNumber (¥ "=cre=n")

=ian=")

o o ELErUmEeTS] o

cemp Bl cemp) * cotal

getNumber (¥ "screen")
-

getNumber (¥ "screen™)

Run your code. Verify it is working.

X!
. The factorial function also requires a loop.

It is a one-step function, so it will not need the calculate method.

Factorial is a math function that works like this:

1'=1 =1
21=1x2 =2
3l=1x2x3 =6
41=1x2x3x4 =24

Bl=1x2x3x4x5 =120

If you type:



it should give you:

120

The code_js like this:

onEvent (¥ "bfact", ¥ "click",

=0 getNumber (¥ “screen")
Suchs 1)

Lo<= cemp
|subl &2

aetText (¥ "acrean”™, total);
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At that point, everything should be working. Try it out.



